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9.

The left most digit is also known as

Hexadecimal number ‘C’ represents the number ___inbinary.

Every octal digit represents a group of ____ bits.
Hexadecimal number 13 represents ____

Base of the number system is also knownas ____

Convert number (1025),, into binary, octal and hexadecimal.
Find the hexadecimal equivalent of (420),, .

Covert the following binary numbers to decimal

(2)1010 (b) 111000 (c) 10101111 (d) 10110

Convert the following Decimal numbers to binary.

(a) 23 (b) 100 (c) 161 (d) 145

10. Do the following conversions.

i.(127.75)0=( ).

ii. (160.14)3 = ( )10

iii. (1000) ;0 = ( ).

iv.(24.375)10=( )s

V.(347.23)8=( )10

vi.(136.75) 10 = ( ),
vii.(1101011110100.001111), = ( )1
Viii.(1001101.0101), = ( )10
iX.(270)s =( )io=( )i
X.(AB.CD)16 = ( ) 10
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